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FIRST YEAR HIGHER SECONDARY . 
'·' SECOND TERMINAL EVALUATION: DECEMBER-2018 

Part-III 
ECONOMICS 

Maximum: 80 Scores· 

General Instructions to Candidate.,;; 

Time : 2 ½ Hours 
Cool-off Time : 15 Minutes 

• There is a ·Cool off time' of 15 minute_s in addition to the writing time. 

• Use the ·cool off time' to get familiar with questions and to plan your answers. 

• Read questions carefully before answering .. 

• Read the instructions carefully. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided: 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the Examination Hall. 

ru'leJOl6mD1db~tlJ6)Jflj 6'a.J:JflSJJm116a(J(JP668~ : 

• m1&'3ln9:fs m>mwmm1m n.JJ06)Ql 15 m1m1~f 't1,,1,<ft, 630nDU 6)6>So'~6Yl'sOcnJl©1ce6>6o 

• ·t1,,1,<ft, 630n1f 6)6)So'CJ~OC3j6Ul300 n.JCll1~CW6)~Som6o ~cm>©fxfBOO <U@>ffi>l,l®6l'Y>o 6)~~om6o 

~n.JCJ(Q)0(/)1cB6)Jd,,. 

• ~Cl!Tro<ll6Ul300 Cl{j)l.96®6<mcirllm m6mr CJ~0Bj6Ul300 @.)OOOn.JJ,«l(),jo OJOcnJ1'66>6mo. 

• m1&CJ'3Cll>6UBOO m6-;6rum6o @.>OOOn.JJ,©(110 ruomJl'65>6IDe 

• c£b6Tl) cB6)u t1,, 1,§ e.i 6 t1,, cJo , .!lJ1 l cm 6Ul3 ~, l (J)OnD 6t1,,cib, Cl{j) cm1 ru ~ mm ma nJ 1J::j o1 <ifli ®6) cm 

~6Yl'sOmJl©1cB6)6mo. 

• <:~OBj6Ul3cio me.iwo~mm1e.i6o maflit1,,1mJl§J6Yl's~ 

• (lf@ClJCll>jlll~ CTUJ]eJ{m) ffi>QlOJO<J,,j6m3cio 6)ti,,056cB6)6mo. 

• CJln.JOl(J)OQlJd,,00 6)~~0ffi0,J,,0Cl!Tro t1,,0<ifticB6)JCJe.JAOJ<J,,cJb 63~6),J,,(DJ~ 63©J g;Qe.JdhCJlS06m1dh 

~n.Jd,,(l)6Tl)(lJJo o.J©i~o ru>o~<ifli ~o.JCJCWOcdJcB6)J(lJOcf6 o.JOsl~. 
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Questions from 1-5. Attend all questions. Each carries 1 score. 

1 m6<mam 5 OJ6)(!) ~o e&.!lJOBd6lll3cil><06>6o ~(m}©6)Ql'f6® 6c£h. 

1. ·sarvekshana' is the publication of; 

a) CSO b) RGI 

c) NSSO d) DGCIS 

rn>«>e&OJ&M:lGrn omrm®" nffiCl5>16)1 LnJ<ru1BJJlc£hroGrnmo6TT) ? 

om) cru1 ommr 6l mn) . CG'©)«> ~ 6)om 

cru1) nmcm omcru" ommr 6l ruJl) ruJl ~ cru1 6)n{j) ~rn>" 

2. Indian railway was started in; 

a) 1950 b) 1850 

c) 1869 d) 1907 

gQ(ll)")jcin 6)0cllJlctf&cxru CG'©)roo@l.!?zj®" 

n{j)) 1950 mil) 1850 

rn>1) 1869 ruJl) 1907 

3. The tax imposed on imported goods is ; 

a) Quota b) Import licensing 

c) Tariff d) None 

gQ0,66\!,0l®1 6).!l.J~6rm ~C'lf&<J:Jrm6lll3cil><06>6lllmctf& .!l.J6mrnm6rm m1c£h6®1 

°ti)) dhJO§ mll) gQ0<06>Jm®1 6)6)e.icrocmcro 

cro1) ®om1o.e6c£hcil> M1) gQOJ6)<IDOcm6m~ 

4. Who introduced 'Jail cost of Living Index' of poverty? 

a) PC Mahalanobis b) AKSen 

c) RC Desai d) Dadabhai Naoroji 

B0©1LBdcnm16)1 ' ~wJlctf& ~o.11®6).!?zjeJnJ" ro6GrnO!B)o' CG'©)o.11~«>1.!?.J®Om" ? 

°ti)) nJl m>1 OlcilleJ<SmOmJlcru" mil) ~ 6)c£h 6)m>cm 

cro1 ) m®«> cro1 Ill BC/llOcllJl ruJl) BOBO@om>" mOJlllOO~ 

5. Q 1 = 5, Q3 = 10. The value of inter quartile range is; 

a) 15 . b) 5 

c) 2 d) 1/2 

Qi = 5, Q 3 = 10 O(j)~1ctf& [QCW«> dhj0©6)6)A<lm lll06T~J O(j)LCID ? 

O(j)) 15 mil) 5 

cru1) 2 cwl) 1/2 
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6. Match the following / <1~m6onJsl <1.!l..lmc006c& (4Xl=4) 

A B C 

a) NABARD S.D 2005 

b) MNREGAct Newspapers / rurorn-mai::>m n.Jl®o Dispersion / to.Jce;Jii>GJ;Rmo 

c) Secondary data/ Rural credit / l(J)Oail6l1> ruownJ Magazines/ QlO(J)rn5lm6ce,&, 

-0jlcm}m, B©'mo 

d) c.v Employment/ 6)®0'91<0'3 1982 

Questions from 7-12, Attend all questions. Each carries 2 score. (6x2=12) 

7. Ditlercntiate human capital and human development. 

8. Define Statistics 

a) Singular sense: ....................... .. 

• I 

n@c&ru.!l.lm momo: --~----

b) Plural sense: .......................... : 

6TlJnD6ru.!l.lm momo: ------

9. Which is more serious, sampling or non sampling errors? Why? 

cru:xn.i'glouf n..Jl':Pru6c&~0(36mO cruomf~1ouf ~cmm nJl':Pru6ce,~o(36mO ~ 6m6®mo ? 

I 0. "India is a good destination for outsourcing". Do you agree? Justify. 

II ~(IT)(U)d o.Jc?,Oo QJ061fl3eflmc?,~ 6lm6 m~ ln.J(3(3(mQ.l06l1)u . " (3CDJ0a?1c00c?,ITT)6(J()J0 ? 

mdomJlc&m1c006~. 
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l l . Brietly explain the occupational structure in British India. 

lm.ll~o~f gQml\imJl6)eJ 6)®0'91~ ne.ism .!2..16(1)6c001 o.flru(l)1c006&n. 

12. Complete the table 

nJ§1&b nJ~<Ocm>1WOc006&b 

Bardiagram 

6Yl.JO<O CWWl(l)o 

....................... 

······················· 

Histogram 

cmQ)W®0<8(1)6lJo 

..................... 

····················· 

Questions from 13-20. Attend any sev.en questions. Each carries 3 score. (7x3=2 l) 

1 3 Ol6®~ 2 o ru 6)Cl> <8.2..lO<\i6llT3gll~ m1cm6o 7 <3.!2..10<3 ci6m3<R>d:ltif ~ClITIDCl>6)Ql':? 6cm6&n. 

I 3. Three types of classification of data are given. Identify them . 

. BaITID6llT3fil6)S Ol~cm6 cmroo ru&cnl&nm6TT)o cmcm1m1c006cm6. <GYOOJ6)W cm1m1~o1w6&n. 

a) India's population from 1921-2011 . · 

1921 - 2011 QJ6)(1)@~ ~m!)ciWJ6>S ~mm>o6lJci 

b) Unemployment rates in different states.oflndia. 

c) Classification of students as boys and girls in your class room. 

m16m3fil6>S ~o~16)eJ nJlBciO«>anD1&b6>~ (G®6m>cBJ6§1&b<R> 6>nJ6TYO&bJ§'l&b6>~Clnw ®Cl>o 

cm1m1c00~ 

14. Mention the main features ofIPR - 1956. 

IPR 1956 6)~ lnJWOffi6)<J:j§ m>nJl<SC/ll~®&b<R> .!2..l,6Tl'3lc0006m1cOOJ&b. 

15. Examine the performance oflndian agriculture under British rule. 
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16. Statistics are widely used in the formulation of plans and policies of government. Explain 

with examples. 

cm en c00 o ro 16) ~ nJ BD cro1 cS:, ~6 o m w 60B ~ 6 o ro 4 n..fl ce:, ro1 c00 6 ru o cm rop R1 ~1 ce:, .. mt 

~n.J<8<DJO(J)1c006cm6. g20onnro6TD crun.01croo n.flruro1cB6'6cS:,. 

17. Recently. the people ofKerala are alanning for organic fanning. Do you agree? Justify. 

roms6®ID cB:>OeJ®IDO<DJ1 <8cB:i(O§®ID16)eJ ~ffi6l)'B(J7) -6)6)~0J cB:>J~cB6'0W1 m60ru1§1 

cS:,J§16)c0006'fYs1 ro1 cB6' 6 cm6. <EWO~ cB6'6cm 6 <80J o ? m dowlce:,ro1c006ce:,. 

18. Complete the chart. 

.!l..lOio§" n.JJio®IDicB:iro1c0€J6cS:,. 

In fras tru c ture ctm>skrunom CTU"OcB:iro d6l5'Bcfo 

? . 

? ? . • 

? 
• 

19. The flood in Kerala 2018 highly affected the people of Chengannur taluk. The revenue 

department of kerala decided to conduct a statistical survey related to this disaster in 

Chengannur. 

201 a 6)e.J 6)0J~6)<J:jOG86)o <8c0,(!)~(m)1m'3 6).!l..J6lfBcm4ro @oe.J4G86)16)e.J ~m6lfB6)~ cruoromomfl 

6Q.I O w1 ~ 6. 6) .!l.J 6m3 cm 4 m16) e.J @2 "O B 6 <O 01f> 6) cm) c0:> 6 01 ~" 63 m 6 CTU <O <8 <1J. m S cm) 6 OJ O cm 

<XcS:,a>~®ID16)eJ orum d6 ruce:,~~-- @lro6mom1~6. 

a) Identify the enumerator and respondent in this survey. 

~"O CTUCO<X(1!mfl6)e.J @2ffiJ60l<S<bR6)(!)(l2)6o ln..J@1c0:>co®IDoo.Jl6)mCOJJo @1m1~o1w6c&. 

b) Which is the method used for the survey? Why? 

CTU©<8C)d ms®ID60JO<m m16mcfo Cl@@" QlOCO(J)o ~n.J<SCOJO(J)1c006o ? ofj)01f>66)c0:>06'f@u ? 
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20. Differentiate the formal and informal workers. 

63 -n nJ !i.l o ro 1 c£h 6) cm o '91 eJ o ~1 ce, 6) ~ w 6 o am, m ro nJ .a..J o ro1 ce, 6) CID o '91 ei o ~1 c£h 6) ~ w 6 o 

0Jj®j0m>6)~56®m6c£b. 

Attend questions from 21-24. Answer any three questions. Each carries 4 scores. 

(3x4=12) 

21 m6<m~ 2 4 (\J6)<0 <X.!2..10Bj6013~1~ m1m\~o 3 C8.!2..108j6ro00t86'>u ~m'iJ>(06)Q)'~\!,CID6dh. 

630a:coocm1m6o 4 mfcgc.fuoro 

21. Describe the main sources of humi;tn capital. 

mmJ~ j !DJ.e.lillffi®m16l<V? ln.J W0ffi6)~3 <&lffiX)®'mJc£b6)~ o.fl(/l)(3Q):)t86') 6c£h. 

22. Draw scatter diagrams representing different types of correlation. 

nno.nw cmroo (TI)ru) 6llJCTW6m6)~ dhOGm1c06>6CTn m>dbOA«> (U)(Q)l(l)o (1J(OCQ)c66)6d,J. 

23. Examine the role of land reforms in the promotion of Indian arg'riculture after 

indepelildence. 

(TU_IO®lml\~ClITID1m" <&C/Odl1o gQ®(U)jcin c£bJn91'1CID66)5 n.flahm>mClITID1~ @4o..1ro1~©6TT)@ID16)~ n.J83-.," 

o.Jm1<&C/OOW1CID"c66)6cBJ. . 

24. Estimate first quartile and third quartile for the data 

Income (Rs.) : 125, 150, 100, 200, 350, 175. 

63rrnoo .!2..l®J«>LDdhru6o m6anoo .!l.J®6«>LDc£bnJ6o c£b06m6c£b. 

rum6m:::>mo (<t>Jn.J) : 125, 150, 100, 200, 350, 175 . 

Questions from 25-27. Attend any two questions. Each carries 5 scores. (2x5=10) 

25 m6cmaf3· 27 OJ6)<0 <8.!l..10Bj6013~<00 m1CTn6o 2 <&.!2..10Bj6lf800c06>" ~@ID(06)ffi'96® 6c£b. 5 m>"cgca,oro 

nflcmo 

25. Rural diversification plays a vital role in rural development. Describe. 

l(l)OQ)i6m o.flc£hm>mrnm1CN> l(l)OffiiGm 6)6)nJoJIWjnJ<00t86')(l)6TT)@m1m~ nJS➔.," n,0(R)(3Q):)t86')6c£b. 

26. Draw ogives and find median 

63~nJ6c£bOO OJ<l>_qdJ' QlO<..l\')dho c£b06mJdh? 

Wages 50-100 100-150 150-200 200-250 250-300 

arucmmo . 

No. of workers 15 38 6 17 33 

6)®~~e.J~dh™6)S 

nm 6lJ1 o. 
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27. India g.oYemmcnt takes three approacht."S to tackle the prohlcm ofpon~rt)· in our nation. 

<3::> ro1 l <3 ~o ~~ ::>®OcB6\~ ru::>cm m, (TT) 6 ln.JW::> ffi6l<;H § m>a>1 nJ m6m3cill tQOO CU> J wru 61 ffl6)Q) 'lQ' 
~ca:i<01~J ru en 6 rm 6· 

a) What are the three approaches'? 

nffi6)®~omo6m" Ctr@ m6rm6 crumicum6lll3cro ? 

b) Explain any two of them. 

mm~cnJlam (t)6)ffis6tmo o.flruro1c00 6&h. 

Questions from 28-30. Attend any two questions. Each carries 8 scores. (2x8=16) 

28 m6croam 30 OJ6)ct> ~~0<3j6M3~1~ m1(TT)6o 2 Q;.!LJOC3j6lll300<£~6l" ~(ffl)ct>6)Ql~ 6cro6<£h. 

28. Why do we need economic reforms in 1991? Elucidate. 

cruocrumm1ca:i n.Jro1~"ca:im6'mo 1991 ~ fflW<lJCli)JOl::><U>6)®01))66><£h06Tl'i ? nJlCli)GQlOc006<£h. 

29. The scores attained by 35 students in a class room test are given below. 

63(!)6 <GJOffti O~o 6)5~1rn'6 35 ru1Gj::>C0®..01<£hcro ~ms1CQJ m>"l1<£h006<£hcJ& ®06>~ 

6><£h::>S6mro1m1cB6\!rm6. 

35, 40, 12, 8, 7. 25, 35, 60. 75, 7 L 45, 43. 39, 24. 69. 51, 50. I 6. 41, 72. 35. 38. 39. 40. 

25, 15, 11,9, 16,48,52,63, 71, 71,33 . 

. a) Complete the table using the data 

C3(ffl)6M3U0 ~nJ ~CQJO(J)1qd" nJ §1<£h oJ~<O(ffl)1<U>OcOOJ&h 

Marks 

momce6'>' 

0-10 

10-20 

Tally bars 

soell 

Frequency 

ctff00JJ~1 

Midpoints 

mw~ m~eJjo 

---------··--

b) Find mean and mode using the prepared table. 

Upper limits Lower limits 

~~ 011.!Ll 

o-1<01w1 curo1w1 

----------- ---------

CIIOWjo, 6'11.JnOJeJ&ho %)ITn1ru ®~OO~c001<U> n.J§1c£b @oJ<J<U>6w1~" dh06TT)J<fh. 
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30. Th~ check the quality of two brands oflight bulbs, their life burning hours was estimated 

as under for I 00 bulbs of each brand. 

· ro6YY36 @mo mJciti6Yl.J 6d➔.l~6 6'ls (1)66ffi m1e.iruomo nJm1e&wow1c006on@1mocw1 630<8©0 

@aimm1ei~o @nJ§ 100 6Yl.JUl)6Yl.16d➔.l~c!,6)S Ql6rn1c00~01elc!,~ ~Wc!,CW" ®06)'-9 @rm1ro1~6\!,rm6. 

Life (in hrs.) No. ofbulbs Brand A 

ar@CQJ J '};\l c ai 6rn1 c00 J 01mo) 6Yl.l 00 6Yl.16d➔.l~M@S nffi 6mO 

lmJOcmru.>" °ti) 

0-50 15 

50-100 20 

100-150 18 

150-200 25 

200-250 22 

100 

Which brand gives higher life? 

HintC.V. 

nfil® ®CO<o®1mo6ffi" ~We!,~ .. dt.>JSJ®elc!,~® ? 
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No. of bulbs Brand B 

6Yl.l uo6Yl.l6dt.>~66)S ne)~o 

l6l'll ocmcw" 6n.ll 

2 

8 

60 

25 

5 

100 

-~ . ;., .. 


